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Introduction

The summer 2022 examination was the first full exam series since 2019 and was taken by 
candidates affected by the pandemic. As such, advance information was provided to help 
candidates to focus their revision time and offered them details of the focus of the content in 
the 9PS0/03 examination. The performance of the candidates is summarised below, with 
advice on how to improve in future series.

As with previous sittings of this paper, the best responses in section A gave fully 
contextualised responses related to the novel scenario given in the question. Some 
candidates continue to produce generic responses, and some also found difficulty with some 
aspects of research methods, including cross-sectional designs, interpreting the histogram, 
and standard deviation. As such, there are some areas that centres can focus on to help 
support candidates for future series. It may be that some candidates focused so much of 
their time on section B and C, perhaps due to the advance information provided in which 
section A could not be included, that they placed less emphasis on this section than usual. It 
was also noticeable that the skills required to answer some of the questions in this section 
were lacking within candidate responses.

Regarding section B, performance was mixed. Emphasis was clearly placed on Q4 by 
candidates, perhaps due to the advance information provided. As such, performance in Q3 
was varied with some very good responses, but also some very weak responses or non-
attempts. It was clear that candidates were more prepared for Q4 as there was a higher 
standard in general than previous series.

Section C also produced mixed performance from candidates. Similar to Q4, candidates were 
clearly more prepared for Q6, perhaps due to the advance information provided. As such, 
this did produce a generally higher performance than previous series. Question 5 had a 
lower performance in general than previous series, despite the question using the same style 
of assessment as previous series and advance information being provided. This may have 
been due to candidates focusing so much of their time on Q4 and Q6, which had noticeably 
more content in general than previous series.

The remainder of this Examiner Report will focus on each individual question and specific 
examples of candidate responses which can be used to help prepare students for future 
9PS0/03 examinations.
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Question 1 (a)

Question 1a required candidates to explain a strength and weakness of using a cross-
sectional design in the study. The best responses identified a strength and weakness of using 
a cross-sectional design in context and then fully justified their points. Weaker responses 
identified a strength and weakness but did not fully justify their points, or gave generic 
content or inaccurate ideas. Candidates generally found this question difficult, with only the 
minority achieving the higher marks in the range, so this should be a focus for centres 
supporting candidates for future series.
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This response was awarded 2 marks.

Two marks for the strength – one for identification of the strength and 
one for justification.

No marks for the weakness – this is not rewardable.
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Question 1 (b)

Question 1b required candidates to explain two conclusions using the data from the table. 
The best responses identified two relevant conclusions and then justified each conclusion 
using evidence from the table. Weaker responses gave the conclusions only, or interpreted 
the data inappropriately so gave inaccurate conclusions or just recycled the data from the 
table with no conclusions presented. Performance on this question was mixed, with 
candidates most commonly achieving 4,2, or no marks, with the most common being four 
marks.

This response was awarded 4 marks.

First conclusion – one mark for identification and one for justification 
through analysis/interpretation.

Second conclusion – one mark for identification and one for 
justification through analysis/interpretation.
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Question 1 (c)

Question 1c required candidates to explain a weakness of the study in terms of validity. The 
best responses identified a weakness of the study in terms of validity and then justified the 
weakness given. Weaker responses identified a weakness only, gave a weakness in terms of 
something other than validity or gave a generic response. The most common responses 
focused on either the subjective nature of the research or how realistic the task was 
considered. Candidate performance was split fairly evenly across the mark range, so 
performance was varied.

This response was awarded 2 marks.

One mark for identification of the weakness, one for justification.
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Question 1 (d)

Question 1d required candidates to explain a strength of the study in terms of reliability. The 
best responses identified a strength of the study in terms of reliability and then justified the 
strength given. Weaker responses identified a strength only, gave a strength in terms of 
something other than reliability or gave a generic response. The most common response was 
to focus on the standardised questions given by the researchers. Similar to Q1c, candidate 
performance was split fairly evenly across the mark range, so performance was varied.

This response was awarded 2 marks.

One mark for identification of the strength, one for justification.
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Question 1 (e)

Question 1e required candidates to state an appropriate conclusion with reference to the 
type of skew shown in the figure. The best responses clearly identified the skew and gave an 
appropriate conclusion. Weaker responses did not refer to the type of skew as specified in 
the question, or gave an inappropriate conclusion, with some also misinterpreting what the 
histogram was showing. Candidates generally found it difficult to identify the correct skew 
and give a conclusion, so this should be a focus for centres to help support candidates for 
future series.

This response was awarded 1 mark.

One mark for an appropriate conclusion with reference to the skew.
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Question 1 (f)

Question 1f required candidates to calculate the mean score for the data to one decimal 
place. The vast majority of candidates were able to give the correct mean score to one 
decimal place.

This response was awarded 1 mark.

One mark for the mean to one decimal place.
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Question 1 (g)

Question 1g required candidates to explain a weakness with using the volunteer sampling 
technique for the study. The best responses identified a weakness of using a volunteer 
sampling technique in context and then justified the weakness given. Weaker responses 
identified the weakness only, gave a generic response, or gave inaccurate content. There 
were more generic responses for this than other questions, so this should be a focus still for 
centres supporting candidates for future series. Overall, performance was varied with those 
who gained marks, similarly split across one and two marks.

This response was awarded 2 marks.

One mark for identification of the weakness, one for justification.
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Question 2 (a)

Question 2a required candidates to calculate the standard deviation of the data to two 
decimal places. The best responses showed all their working and gave the correct response 
to two decimal places. The majority of candidates found this difficult though and whilst a lot 
attempted the calculation, they did not achieve any marks. Standard deviation should remain 
a focus for centres supporting candidates for future series.

This response was awarded 4 marks.

Four marks for the standard deviation to two decimal places.
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Question 2 (b)

Question 2b required candidates to explain a reason for using the standard deviation rather 
than the range. The best responses identified a suitable reason for using the standard 
deviation rather than the range and then justified the reason given. Candidates generally 
found this difficult with a lot stating that the standard deviation is not affected by outliers / 
extreme scores, which is inaccurate so achieved no marks. As such, supporting candidates to 
understand why the standard deviation may be more useful than the range should be focus 
for centres for future series.

This response was awarded 1 mark.

One for identification of a suitable reason only.

13 GCE Psychology 9PS0 03



Question 2 (c)

Question 2c required candidates to explain an improvement for the study. The best 
responses identified an appropriate improvement in context and then justified the 
improvement given. Weaker responses identified an improvement only, gave an 
inappropriate suggestion or gave a generic response. Performance was mixed, with a spread 
of marks being achieved by candidates, but generally they found it difficult to give a fully 
justified improvement in context.

This response was awarded 2 marks.

One for identification of an appropriate improvement, and one for 
justification.
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Question 3 (a)

Question 3a required candidates to compare the observed/calculated value with a relevant 
critical value and then justify what this means for the study. The best responses gave a 
focused response which included both elements, whereas weaker responses tended to focus 
on one or the other or focus on the data from the table instead. Generally, candidates found 
it difficult to provide both a comparison of the critical and calculated values and then 
interpret this in terms of the study. Some candidates misunderstood the study and so their 
interpretation was not creditworthy.

This response was awarded 2 marks.

One mark for comparing the observed/calculated value with a relevant 
critical value, and one for justification of what this means for the study.
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Question 3 (b)

Question 3b required candidates to explain how far social learning theory could account for 
the findings of the study, using research evidence. The best responses applied social learning 
theory to the findings of the study and then justified their ideas using research evidence. 
Weaker responses tended to give a lot of information about social learning theory and then 
not apply it to the study appropriately, but instead say that the participants reproduced the 
behaviour themselves. Candidates found it difficult to reach the higher marks in the range, 
with the majority focusing on application only and perhaps considering a single piece of 
research evidence, usually Bandura et al.’s (1961) study. The minority were able to apply 
various parts of the theory to the study findings and then provide various research to 
support or oppose their ideas as appropriate, but those reaching the top of the mark range 
were very infrequent.
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This response was awarded 2 marks.

One mark for application of social learning theory to the findings of the 
study, and one mark for judgement/justification of research evidence 
in relation to the study.
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Question 4

Question 4 was an extended open response question with the ‘Evaluate’ taxonomy which 
targets both AO1 and AO3 content. AO1 was looking for knowledge and understanding of the 
studies or ethical issues and AO3 was for analysis, interpretation, and evaluation of both 
studies in terms of how ethical they could be considered and the implications of this, leading 
to judgements/conclusions.

Assessment of this question was through a levels-based mark scheme where a ‘best-fit’ 
approach was used; deciding which level most closely describes the quality of the answer. 
Each AO was judged separately and where the components met the requirement for the level 
fully (and perhaps has elements of the level above), then marks were awarded at the top of 
the level. Where the components met the level but only just, they were awarded marks at the 
bottom end of the level. When a response was imbalanced (i.e. one AO was stronger than the 
other) a compromise was found. Consideration was also given regarding this question 
requiring greater AO3 content than AO1 (6/16 to AO1, 10/16 to AO3).

Performance was noticeably better on this question than in previous series, perhaps due to 
the advance information provided and the nature of the debate being assessed in relation to 
the studies. Candidates typically gave a lot of information compared to previous series and 
focused on both studies and considered the ethical issues for each. The best responses gave 
accurate knowledge and understanding of the two classic studies and then placed greater 
emphasis on the AO3 content in terms of considering how ethical they were and the pros 
and cons of this. Weaker responses gave vague, brief information regarding the studies and 
tended to give a lot of inaccurate statements regarding the ethics of the studies, sometimes 
interweaved with snippets of accurate information. Those achieving the highest marks 
imbalanced their response, with more AO3 than AO1 and depth in terms of their arguments 
concerning ethics for the two classic studies.
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This response was awarded Level 3 – 11 marks.

The AO1 was judged as level 3 – Demonstrates accurate knowledge 
and understanding.

The AO3 was judged as level 3 – Arguments developed using mostly 
coherent chains of reasoning leading to a conclusion being presented. 
Candidate demonstrates a grasp of competing arguments but 
evaluation is imbalanced.
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Question 5

Question 5 was an extended open response question with the ‘Evaluate’ taxonomy with a 
scenario which targets AO1, AO2 and AO3 content. AO1 was looking for knowledge and 
understanding of biological psychology, AO2 was application to the scenario given in the 
question about the ability to drive, and AO3 was analysis, interpretation, and evaluation of 
the ideas presented from biological psychology or how other alternative ideas can account 
for human behaviour and the implications of this, leading to judgements/conclusions.

Assessment of this question was through a levels-based mark scheme where a ‘best-fit’ 
approach was used; deciding which level most closely describes the quality of the answer. 
Each AO was judged separately and where the components met the requirement for the level 
fully (and perhaps has elements of the level above), then marks were awarded at the top of 
the level. Where the components met the level but only just, they were awarded marks at the 
bottom end of the level. When a response was imbalanced (i.e. one AO was stronger than the 
other) a compromise was found. Consideration was also given regarding this question 
requiring equal amounts of AO1, AO2, AO3 (4/12 to AO1, 4/12 to AO2, 4/12 to AO3).

General performance on this question was lower than in previous series as there were more 
blank responses. This was perhaps due to candidates using more of their time on Q4 and Q6, 
which had noticeably more content than previous series in general. The best responses gave 
a balanced response with consideration of biological theory, application to the scenario, and 
then analysis, interpretation and evaluation leading to judgements/conclusions. The most 
common ideas that candidates focused on included hormones, genes, brain structure and 
function, with some also giving consideration to Freud’s ideas. Weaker responses tended to 
consider AO1 and AO2 only with little or no AO3 content and generally gave far more vague 
statements with inaccuracies throughout.
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This response was awarded Level 2 – 5 marks.

The AO1 was judged as level 2 – Demonstrates mostly accurate 
knowledge and understanding.

The AO2 was judged as level 2 – Line(s) of argument occasionally 
supported through the application of relevant evidence from the 
context (scientific ideas, processes, techniques & procedures).

The AO3 was judged as level 2 – Candidate produces statements with 
some development in the form of mostly accurate and relevant factual 
material, leading to a superficial conclusion being made.
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Question 6

Question 6 was an extended open response question with the ‘Assess’ taxonomy which 
targets both AO1 and AO3 content. AO1 was looking for knowledge and understanding of 
socially-sensitive research, including psychological theories, studies, methods and AO3 was 
analysis, interpretation, and evaluation of socially-sensitive research using content from 
psychology and the implications of this, leading to judgements/conclusions of how far they 
could be considered socially sensitive.

Assessment of this question was through a levels-based mark scheme where a ‘best-fit’ 
approach was used; deciding which level most closely describes the quality of the answer. 
Each AO was judged separately and where the components met the requirement for the level 
fully (and perhaps has elements of the level above), then marks were awarded at the top of 
the level. Where the components met the level but only just, they were awarded marks at the 
bottom end of the level. When a response was imbalanced (i.e. one AO was stronger than the 
other) a compromise was found. Consideration was also given regarding this question 
requiring greater AO3 content than AO1 (8/20 to AO1, 12/20 to AO3).

Candidate performance on this question was higher than in previous series in spite of the 
debate being assessed, which some may consider more difficult than other debates on the 
specification. This may have been due to the advance information provided. It was noticeable 
that candidates wrote a lot of content in general for this question, with varied quality. 
Candidates were clearly more prepared than usual but with varying degrees of success. The 
best responses gave an imbalanced response, with a greater focus on AO3 content than AO1, 
and explored their arguments with greater depth and complexity. They often considered the 
value of the research beyond its face value and explored the implications far more. Weaker 
responses generally gave superficial statements with arguments that had no depth beyond 
simplistic points regarding how socially sensitive the studies may be considered.
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This response was awarded Level 3 – 11 marks.

The AO1 was judged as level 3 – Demonstrates accurate and thorough 
knowledge and understanding.

The AO3 was judged as level 3 – Displays a logical assessment, 
containing logical chains of reasoning throughout which consider a 
range of factors. Demonstrates an understanding of competing 
arguments/factors but does not fully consider the significance of each 
which in turn leads to an imbalanced judgement being presented.
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Paper Summary

Based on their performance on this paper, candidates should:

Ensure they fully contextualise their responses when they are given a novel scenario and 
avoid generic statements throughout the paper.
Read the questions carefully and include the necessary information as specified.
Ensure they are using the required skills, such as fully justifying strengths, weaknesses, 
and improvements.
Ensure 12 mark questions with a scenario have enough of each of the AOs and balance 
the amount of content given for each of the AOs.
Make sure they give an imbalance on 16 and 20 mark questions with greater AO3 material 
than AO1.
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Grade boundaries

Grade boundaries for this, and all other papers, can be found on the website on this link:

https://qualifications.pearson.com/en/support/support-topics/results-certification/grade-
boundaries.html
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